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India’s rank in the production of fruits and vegetables in the world is at

present :
(A) First (B) Second
(C) Fourth (D) Sixth

Which one of the following is consistent with free trade ?

(A) 'Restrictions on the movement of goods

(B) Existence of anti-dumping policy

()  Absence of tariff

(D) Encouragement to balanaced growth

Which one of the following water resources is known as green water 7
(A) Rain . (B) Lakes

(C) Ponds (D) Rivers

The Commission for Agricultural Costs and Prices (CACP) recommends the

Minimum Support Prices (MSP) for :
(A) 20 crops (B) 21 crops

(C) 23 crops (D) 26 crops
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1.

frva § we U4 miewdl & IWEA B WRG ® B S99 A ¥

(A) W9H (B) f&m

(C) =4 (D) =
frefarfem § | @99 UF =ad 9T 7 51 ¥ 2

(A) =3 & =99 8 wiaws

(B) we-faish Aifs =1 sfee

(C) WEF F sufeata

(D) Hafew wafa =+ JeaE
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(A) =mi | (B) &
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(mnumd.) fuifa s & 2
(A) 20 wES (B) 21 B&A
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5. For which of the cereals, the Commission for Agricultural Costs and Prices

(CACP) does not recommend the MSP ?
(A) Paddy (B) Maize
(C) Barley (D) Buckwheat
6. The central issue of Doha round of WTO has been :
(A) Trade in Services
(B) TRIPS
(C) Agriculture related issues
(D) Exports from developing countries
& The regression lines Y on X and X on Y will cut each other :
(A) At a point of X only (B) At a point of ¥ only
(C) At the points of X and Y (D) None of these
8. The reciprocal of the harmonic mean is equal to :
(A) Arithmetic Mean
(B) Sum of all observations
(¢) Sum of the reciprocals of the obmﬁaﬁom
(D) Arithmetic Mean of the reciprocals of the observations

PGT (ECONOMICS) 2016—C 1



5. oA mmo= & fou, #f srw @ gew sEm (Wewd) geew @udd g
(TRUE.) W e T w2 |

(A) §H (B) e
(€) =R (D) =2z
6. T F w TH W BT O W ¥ ;
(A) Farsfi § =
(B) fg=
(C) #Ffu Fafua [z
(D) Taspraeiier 29 | Ffa
7. YW X & a9 X R Y F @ WiOwA @A Uwm gH w weda & o
(A) #waa X @@ fag m (B) #aa ¥ @@ fag w
(©) X om y & fagsii m | (D) =8 | #rf T8
8. TS WG @ ogemd ol § o
(A) TR WY &
(B) Wi Jwvif & am &
(C) W&vil % =[eRdr H1 am

(D) B%vii & sgerdl &1 THFAL AA
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9. If every item of a given series is multiplied by a number, say &, which of

the following measures will remain unchanged ?

(A) Arithmetic Mean (B) Median

(C) Variance (D) Coefficient of variation
10. Karl Pearson’s coefficient of skewness is based on :

(A) Arithmetic Mean, Mode and Standard Deviation

(B) Arithmetic Mean, Median and Standard Deviation

(C) Arithmetic Mean, Mode and Mean Deviation

(D) Both (A) and (B) above
11. Which of the following measures can be obtained using ogives ?

(A) Mode (B) Median

(C) Both (A) and (B) above (D) Range

12.  If for a given series, the arithmetic mean is 12 and the variance is 144, then

the coefficient of variation will be :
(A). 100 percent (B) 8.33 percent
(C) 200 percent (D) 1200 percent
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9 ufz fEdt St @ =i wE @ fed fifewa dem, W ok | om w2 fem oW, @
Freifafaa # & S99 W9 sqfEtE 32

(A) HHFEL YA (B) wfsaER

(C) W& (D) fa=gem s
10. & foads =1 faoom s safiE §

(A) THraT W9y, EEeE o9 wE fEEeE W

(B) wwrR W, wifegsr agr wam fEEes W

(C) HuFR W, ages @) A fages W

(D) 3udE (A) 791 (B) 34 W

11. = sEfe 9% (seE) & wEm g, fefatas 3 8 f5m am # om wmn o

wFEm g 7
(A) Fg&H (B) wifeas
(C) 3dEa (A) 91 (B) FFi (D) fam

12. afe frdt St & fom werar wg 12 a9 RO 144 A, @ faEem i @m o
(A) 100 wfavm (B) 8.33 wfaem

(C) 200 wfave (D) 1200 wias@
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13.

14.

15.

16.

70
If the demand function is ¥ = ? then the elasticity of demand is equal

to :

(A) Zero (B) 1

© = D) 7
7

If for a monopolist, price is 20 and the elasticity of demand is 2, the marginal

revenue will be :

(A) 0 (B) 40

(C) 10 (D) -10

If interest payments are subtracted from gross fiscal deficit, the remainder
will be :

(A) Primary Deficit | (B) Budgetary Deficit
(C) Revenue Deficit (D) Monetized Deficit
Fiscal consolidation can be achieved by :

(1) Increasing surpluses from PSUs

(2) Raising additional resources through taxation

(3) Efficient expenditure management

(4) Increasing supply of money in the economy

Of these statements :

(A) Only (1) and (2) are correct

(B) Only (1), (2) and (3) are correct

(C) only (2), (3) and (4) are correct

(D} (1), (2), (3) and (4) all are correct

PGT (ECONOMICS) 2016—C 8



13, ufcwinmmx=1:- 2. @ w0 w A A

(A) I | (B) 1

1

(C) 7 o 7

14. afz Fedt wEfeET ® fag, FWa 20 AW AN F AR 2 R, @ FHE A=
il

(A) 0 (B) 40
(C) 10 (D -10
15. w& TEE TERNE W2 R S pEEl #) gem o ¥, A ey @ o
(A) WafHeE =2 (B) A=A HIZ
(C) T== el (D) #EEa W

16, TR wgd@ET W ww fEm oW wem ¥ o
(1) wEAtm &9 3 IHE ® A=A B AGHL
(2) AW g0 wafEa T & aEE
(3) wewTY SEA-TEEA 3R
4) FdomEn # wm w1 9§ e FE
IrfE wgd A A
(A) &= (1) 991 (2) 96 ¥
(B) =9 (1), (2) a1 (3) F& &
(C) Baa (2), (3) 741 (4) T ¥

D) (1), (2), (3) 41 (4) 7 &
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17.  Which of the following theory of taxation is also known as, “Tit for Tat”

theory ?
(A) Ability to pay theory (B) Equal sacrifice theory
(C) Least sacrifice theory (D) Benefit theory

18. Consider the diagram given below :

A
B
The Gini coefficient is :
| A B
A A+B B By
A A+B
(C) B (D) A

19. The main source of domestic savings in LDCs is :
(A) Savings by public sector undertakings
(B) Government savings through budget surplus
(C) Corporate retained earnings

(D) Savings by households
PGT (ECONOMICS) 2016—C 10



17. mﬁﬁmmﬁﬂﬁmm%‘@ﬂm'm%mﬁ
st S e €7

(A) Y awE g (B) =uF @@ fage=
(€) = = g (D) Femy faar
18, ¥ feu m fay W owE AW e

A B
(A) A+B (B) B+ A
A A+B

(C) B (D) ;

19, sefqwiaa 29§ wie wwd @ wga wWe o
(A) TEwr &% ITHA H A
(B) w2 Sfvad B FEE wwd
(C) o wiramm wiftest
(D) wiE a9a
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20.

21.

24.

According to the monetarists, the Phillips curve in the long-run is ;
(A) Horizontal (B) Vertical

(C) Upward sloping (D) Downward sloping

What is the central idea behind dependency theories ?

(A) Developing countries should be dependent on free-market development
(B) Economic growth is dependent on the poor

(C) Free market development primarily helps the rich

(D) All of the above are correct

Which of the following causes increase in aggregate demand ?

(A) A stronger currency (B) Increased taxes

(C) Increased interest rates (D) Increased consumer confidence
Which one of the following is not an example of indirect tax ?

(A) Exeise Duty " (B) Sales Tax

(C) Expenditure Tax (D) Custom Duty

Inflation redistributes income and wealth in favour of :

(A) Poor (B) Rich

(C) Middle class (D) Pensioners

PGT (ECONOMICS) 2016—C 12



21.

22.

23.

W%m.mﬁmwmt:

(A) afe (B) FeEiHr

(C) FUT =+ T A (D) A = A AT
wmmammmwt?

(A) Tawmawie 2o w@es aen fawm w R e i

(B) anfdw datg wim w Pl wa #

() e AR fawT waEd: e st @ wEma werd s ¥
(D) 3w g TE ¥

frofefes & & @9 T A & 3fg w1 w2

(A) UE HEa FHIH (B) mgm'mmw

(€) =g g = (D) =7 T I fEvEw
freffafen # | F9W UF SAWEH w1 F T W ¥ ?

(A) T’ YH (B) fast-=1

(C) =1F-Ft (D) € Ew

et frm A @ fewd wa # o w W @ g w2
(A) il (B)

(C) weAg & (D) THy=wad
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25.

26.

27.

28.

Which of the following gas does not contribute to the global warming ?

(A) Sulphur (B) Acetylene
(C) Methane (D) Carbon dioxide

Non-development expenditure involves :

(I) Interest payments (I1) Subsidies

(ITD Defence expenditure (IV) Irrigation

Codes :

{A) (I) and (II) only (B) (!) only

(C) (I, (ID and (III) only (D) (I, (III) and (IV) only

If two firms compete with each other in a Cournot fashion, then :
(A) Each firm views the prices of rivals as given

(B) Each firm views the output of the rivals as given
(C) Each firm views the profits of rivals as given

(D) All of the above are correct

The kinked demand curve theory assumes :

(A) Firms are not profit maximizers

(B) Firms are competitive with each other

(C) Firms may collude

(D) Firms fixes quota

PGT (ECONOMICS) 2016—C 14



25. frefefes &6 8 /4 9t 3fvas ags § dreE 8 @ § 2

(A) T=FT (B) TEtfes=
(C) =R (D) #E7 ZEAEETS

26. -fawrdta =ug d Hfinfeq & .

(I = e (I 37&™

(II1) 147 =54 (IV) =g

T

(A) #aF& (I a9 (ID (B) %Haa (D)

(C) &= (I, (II) @@ (IID) (D) == (ID), (11 d=1 (IV)

27. dk q wH FH YA F uF g F W9 wloend @, @
(A) werm wd wfedrlt wHl #1 Fma @ fem gen wma ot R
(B) W W wfedril wdl & I9@A &1 &4 g §5E el §
(C) wrw wd wfedrt wal & =mit = famn gan a9 A B
(D) 37 &1 wd ¥

28. famfmm wm =% fagra =1 w2 ¥ .
(A) wF =y sfuwadeo 586 st ¥
(B) w4 w# &t &1 wlaegdi &
(C) wH Fyedfa %1 T §
(D) wH sy fafem & ®

PGT (ECONOMICS) 2016—C 15

P.T.O.



29.

31

32.

In which of the following growth models, Leontiefs production function is

used ?
(A) Boulding (B) Kaldor
(C) Solow (D) Harrod

The cross elasticitf of demand for perfect substitutes is :
(A) Zero (B) Positive
(C) Negative (D) Infinity
Monopsony is a market situation where there are :
(A) One buver, one seller

(B) One buyer, more sellers

(C) More buyers, one seller

(D) More buyers, more sellers

Lerner’s index of monopoly power is given as :

oy = | gy E=AC
p AC

P - MC P - MC
© — O —=

(Where symbols have usual meanings)
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29, focifafan Wtz #teeh 8§ A el fod=ie &1 3R FeA wam g2 & 2
(A) ®fe=T (B) we=R
(C) #e (D) ¥z
30. view wfreafon awgal @ fou s &t @ A A ' -
(A) ¥ (B) wATEH
(C) =omeH (D) &4
31. warusr =% Few fofa & famd 8@ ¥ -
(A) ww #a, & faha
(B) U Zm, suw fashar
(C) e =, wF faw
(D) #fum wa, fus fEwa

3. R w1 uFiuEm v w1 gues o

(A) it L (B) P40
P AC

P-MC P-MC
(©) S D) ==

(ol w@Hdl & I ¥4 §)
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33.  instraight line consumption function, as income rises, the average propensity

to consume :
(A Remains constant (B) Continuously declining
(C) Continuously rises (D) First declines, then rises
34. In IS-LM analysis, an inerease in money suppiy will shift ........... , other things

remaining the same,
(A) LM curve to the right (B) LM curve to the left
(C) IS curve to the right (D) IS curve to the left

35. The ‘'money multiplexer' is defined as :

M M

s & o L
A B
o 3 D)
M 77 B,

36. The saucer-shaped average variable cost was introduced by :
{A) Marshall (B) Walras
(C) Stigler (D) Stiglitz
37, Demand pull inflation may be caused by which of the following factors ?
(A) Reduction in direct taxes
(B) Increase in indirect taxes
(C) Decline in wages

(D) Decline in consumption expenditure
PGT (ECONOMICS) 2016—C 18 '



34.

35.

36.

37.

vF e ITIm wem #, 99 oM agEr & 3vEm # shea wgi o

(A) froz =it % (B) fr=m wedl 2

(C) e =gl % (D) e wed §, fe wgd ®

IS-LM favermm #, s =i & §9A w3 | A9 7 gfg oo wfeEfd w1
2

(A) LM 3% = zr 3R (B) LM =% %1 @i 3R

(C) IS @% ® T 3R (D) IS &% i =4 3N

-1 F1 et fE s #

(A = B) =
b M, B) M,

M, M,
C

Aval # W Aaa wadE aea w faen T oo

(A) HIEE B (B) FeRE W

(C) femem g (D) FwieEs g
ﬁqfaﬁgamtaﬁﬁﬁfam%muimgcmmt?
(A) wem &0 H FA

(B) zmey &4 H3 3

(C) wwigdt & HHl

(D) 39sm =@ H FH
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38.

39.

41.

42.

PGT (ECONOMICS) 2016—C 20

The equation M = kY + &' is propounded by :
(A) Fisher (B) Robertson
(C) Marshall (D) Pigou

In the case of Cobb-Douglas production function, the returns to factors

are :
(A) Constant (B) Declining
(C) Increasing (D) Indeterminate

Who said that ‘Laws of Economics are like tides” ?
(A) Adam Smith (B) David Ricardo
(C) L. Walras (D) Alfred Marshall

Which of the following factors was not considered by the Fourteenth Finance

Commission in determining states’ share in the divisible pool ?
(A) Income distance (B) Population

(C) Fiscal discipline (D) Demographic change
BASEL norms relate to :

{A) Central Bank of the Countries

(B) Commercial Banks

(C) Both (A) and (B) above

(D) Neither (A) nor (B)




39.

41

FHET M = kY + &' 1 wfowed & o

(A) fHwm zm (B) adw g
(C) == F[ (D) W ZM|
wA-TEE IET e #1 ffy § we & wfaee 89 8 o
(A) fam (B) ®FHH

(C) afeam (D) Hf

fam = T ‘aders # fEm mw-we wowE 2

(A) wEm fm= (B) 2faz fizrsl
(C) TA. AEH (D) s e

Aty wEE § A T8 FAE W Awed faw adm g, fawem s d e
% femy =t fuifm = § faam 98 & ™ 2

(A) g 7l (B) ==

(C) TEFE HITEA (D) witwwE gftads
#&= (BASEL) ¥ravs &1 ®as ® :

(A) =9l & F207 3% F

(B) =foifas %1 |

(C) I9F (A) 791 (B) 241 B

(D) F @A) A & (B)
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43.

44,

46.

PGT (ECONOMICS) 2016—C 22

If GDP is growing at the rate of 4.5 percent and population is growing at
the rate of 2.0 percent per annum, the proportional growth rate of per capita

income will be :

(A) 2.5 percent (B) 2.0 percent

(C) 6.5 percent (D) 2.25 percent

What is the targetted growth rate of agriculture in XIIth Five Year Plan

of India ?
(A) 3.5 percent (B) 4.0 percent
(C) 4.5 percent (D) 6.0 percent

Which of the following is not a ‘Rabi’ crop ?

(A) Gram (B) Wheat

(C) Mustard seed (D) Maize

Which state/union territory is least populous, according to census 2011 ?

(A) Lakshadweep (B) Sikkim

(C) Daman and Diu (D) Andaman and Nicobar Islands




45.

uﬁmqﬁm4.5ﬂﬁmﬁwwﬁmmﬁm2maﬁaﬁn

A9 @ A @ v =E sm § aroies gfe 2T AW o
(A) 2.5 wfeem (B) 2.0 wfaemd
(C) 6.5 wfowa (D) 2.25 wfawa
Wi F 1247 Famdtn A § Ff # oAt ¥ o
(A) 3.5 wiowm (B) 4.0 ufeem
(C) 45 Wfwm D) 6.0 wfEm
fre & @ FE T W vEE W R 2

(A) = (B) TE

(C) TwE w1 A (D) wEH
mmlla}mﬁqﬁﬂmmmmmammmt?
(A) w&E™ (B) fufawm

(C) = W@ Y (D) vEaE aw fFEEn 39-99E
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47.

49,

Which of the following states has lowest literacy rate as per census

2011 ?
(A) Odhisa (B) Rajasthan

(C) Bihar (D) Himachal Pradesh

Pradhan Mantri Bharat Jodo Pariyojana is related to which among the

following ?

(A) Communication

(B)1 Linking of rivers
(C) Development of Highways
(D) Linking rail network to North-Eastern States

Which Article of the Constitution of India has a provision to constitute a

Finance Commission ?

(A) Article 275 (B) Article 280

(C) Article 380 (D) Article 282

In which of the following states, Panchayati Raj was first introduced ?
(A) Uttar Pradesh (B) Andhra Pradesh

(C) Rajasthan (D) Bihar
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47, FEE 2011 ® ww, Prefafan owd § faww aaa 2w FEd w9 % 7
(A) SBE (B) Trsrear
(C) famm (D) femmaa W@

48, WwH T WNE W wiee @ g frefatem § R ¥ 2
(A) HEW
(B) Afzgl =1 s
(C) Tl w1 fEwTE
(D) TA-Fea® & IE-gd e § oS

49, W ® TfawE ® R wgeee A faw sEm # TEA W yEuE g 2
(A) w1 275 (B) = 280
(C) w380 (D) W 282

50. freAfefaa ol § &, fFm oo § Temdt o9 # FEwaw @v] fEmomn 2
(A) IW WV (B) #rY W

(C) TS=A | (D) fasr
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al.

52.

53.

54.

Chamba Princely State possessed more than 150 copper plate title deads.

Approximately how many of them belong to the pre-Mohammedan period ?
(A) Zero (B) Two
(C) Five (D) Seven

Raja of which Princely State was made prisoner by the Sikh army around

1840 AD. ?
(A) Suket (B) Mandi
(C) Kullu (D)  All of these

On which river is Pandoh Dam 7

(A) Parbati (B) Beas
(C) Suketi (D) Satluyj
Which is the longest glacier in H.P. ?

(A) Bara Shigri (B) Mayar
(C) Gora (D) Murkila

Which section of Gaddis of H.P. claim that their ancestors fled from Lahore

to escape persecution during the early Mohammedan invasion ?
(A) Rajput Gaddis (B) Brahamin Gaddis

(C) Khatri Gaddis (D) None of these
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al.

52.

H54.

55.

v fraEE ® TE 150 § HiE 9 93 @|me-geam § 5 ayn feeR deesd
FE AW A DR ?

1Ay ¥ (B) =
)y uf= (D) =M@
fam framm & TS0 F 1840 ST & wmww fem W OF A= AW o ?
(A) Hbd (B) HvEl

(C) H (D) & |4t

(A) (B) =8
(C) Fhal (D) Faga
few. ® el e fogm (AfmR) FrE ¥ 2

(A) =91 ferd (B) =R
(C) 7m (D) Hfwmen

faw. & e = FA-E AW T® @ FE ¥ R e TS qEewHl # [YE F
mwa?m'%maaaﬁ%mmﬁmma ?

(A) TG T (B) #w&m TE
(C) == T (D) =T | HE T
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56.  Which of the following sub-castes accepts offerings in the name of dead by

performing the death rites ?
(A) Bhat (B} Khatik
(C)  Acharaj (D) Turis
57. Which of the following is a wind instrument ?
(A) ‘Sarangi (B) Cymbals
(C) Rabat () Flute
58. In which district of H.P. is Simbalbara sanctuary ?
(A) Sirmaur (B) Shimla
(C) Solan (I Bilaspur
59. Which of the following paintings iz not by Amrita Shergill ?
(A) Siesta (B) Black Nude
(C) Hillman (D) Kangra Bride
60. Which of the following hydro-power project is in Ravi river basin ?
(A) Upper Joiner - (B) Sumez

(C) Toss (D) Sissu
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56. frafafam § 2 #0-d@ 3Tfa gawi & sy 0 39 9 W TH Wi w790
% ?

(A) w2 (B) @=fe®
(C) FF=rd (D) T
57. faetafem 8§ | #99 am 73 gw (fF2) 7= & 2
(A) = (B) ==
() T (D) =gh
58. foaearz womys few & s @ 4 % 2
(A) forfe (B) fermen
(C) e D) faemEg
59. frofafam § | #wd o sogen defre &1 a8 & 2
(A) Tear (B) =% I8
(C) feert (D) =TE WES
60. Frofatas § § i w=-fage ofdem o 38 @2 ® ' ?
(A) 2O SEET (B) HAS

(C) #@= (D) fag
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61.

62.

64.

Which Indian state’s tagline is ‘Small But Beautiful' ?
(A) Goa (B) Kerala
(C) Sikkim (D) Uttarakhand

What was Abhinav Bindra's rank in 10 Mtr. air rifle shooting at the 2016

Rio Olympics ?

(A) Fourth (B) Fifth
(C) Sixth (D) Seventh
Who is V. Narayansamy ?

(A)  Chief Minister of Puducherry

(B) Founder of Infosys

(C) Noted novelist

(D) Editor of the Hindu

Which of the following is not a station on way to the Amarnath shrine from.

Pahalgam ?
(A) Bheem Dwar (B) Chandanwari
(C) Sheshnag (D) Panchtarni

Who is scheduled to succeed Raghuram Rajan as the next Governor of Reserve
Bank of India ?

(A) D. Subbarao (B) Urjit Patel

(C) Vinod Rai (D) Shakti Kanta Dass
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61.

wrE & feg = & dnen Wi 4w sgEwE §o/
(A) & (B) =&
() fafey (D) FHrEvg

2016 #1 frdl A=fow S § 10 e s WHA e 7 vy faen e S

=E g 7
(A) e (B) =&l
(C) == (D) =weEl

1. AREUEE wE § 7
(A) YEEaT & Wem wHl (B) Twifgm & st
(C) FH-9M ITAEHR (D) o & "wEs

e ¥ STIY didegE 9 wEa O § fefetas § {3 wEE E T8 S
|

(A) ¥\ R (B) w=Targl

(C) ¥roAm (D) d=aol

TR T ® E W 9 o % @ e #9 warfad ¥ 7
(A) = g=arE (B) 3 wea

(C) fair 3 (D) wfF s =9
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66.

67.

69.

70.

Approximately how many people died in the earthquake that shook Italy in

August, 2016 ?

(A) 278 (B) 369

(C) 414 (D) 492

What is the proposed venue of 2020 Olympics ?

(A) Beijing (B) Tokyo

(C) Seol : (D) Madrid

Who is the Prime Minister of Italy 7

(A) Matteo Renzi (B) Patrick Allen
(C) Evans Paul (D) Michel Martelly
Raul Castro Ruz, the President of Cuba, is Fidel Castro’s ...........
(A) Son (B) Brother

(C) Cousin : (D) None of these
Which country hosted the G-7 summit in May 2016 ?
(A) China (B) France

(C) Japan (D) South Korea
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66. e 2016 # zeeh ¥ smu apwe # s R @m AR T 2
(A) 278 - (B) 369
(C) 414 (D) 492
67. 2020 ® 3efum B # wEAfA S wAW ¥ 7
(A) #fem (B)
(C) =i m:ﬁf's's
$8. & W1 WUN WH ®A & 7
(A) Hfg S (B) A wEA
(C) Targ i (D) wEdhel W
69. TIE e =9 A w@m & Twdl 5, &% frda wen o oam ¥ 2
(A) == (B) wré
(C) ==u Wi (D) ¥ | w1 T
70. W 2016 = w-7 forar weew fam 2w A @0 @ ?
(A) (B) w¥

(C) =TH (D) =fam i
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71.

72.

73.

In Indian context, which one of the following pairs is not correctly

matched ?
(A) Globalisation —
(B) Poverty —

(C) Green Revolution —_

(D) High Powered Money —

Internet revolution
Calories intake
Organic fertilizers

RBI

Consider the following with regard to NABARD :

(1) It was set up in 1982.

(2) It was set up on the recommendation of B. Sivaraman Committee.

(3) Its paid up capital on 31-3-2015 was T 500 crore.

Of these statements choose the correct answer from the codes given

below :
Codes :
(A) (1) and (2) are correct (B)
(C) (2) and (3) are correct (D)

The Hindu rate of growth is related to :

(A) K.N. Raj (B)

(C) KL. Krishna (D)
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(1) and (3) are correct

(1), (2) and (3) are correct
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71.  vwEm wad #, fefetma @i § ] S gafee w3 o7

(A) JF5ETHI
(B) Tt
) =@ ==

(D) 3= wifed Hq:

T=T92 FmIA
Fen]
FrATTF IoTH

3T . 3T,

72. wm=rg % mew § fFeiefam w9591 w fa=an wifen

(1) BE®I 9 1982 ¥ BE 971

(2) ¥EF T A feaums wiEfa # Swfad & osan wogd

(3) TEH wew fw ZEE 31 W, 2015 | T 500 FAS oA

WoweE 8§ AR faw oo wE R Al swow W Wi

_|T

(A) (1) 791 (2) =% ¥

(C) (2) awr (3) j81 &

73. feg mafz = ow1 o= § -

(A) +.99. ™=

(C) #.u&d. F=ou
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(B)

(D)

(1) @91 (3) =& 3

(1), (2) 9= (3) TH ¥

AE AT TS

P.T.O.



74

75.

76.

77.

Which of the following is not an endogenous factor of industrial sickness ?
(A) Excessive manpower (B) Diversion of funds

(C) Mismanagement (D) Power shortage

Th.e main objective of ‘Quantity easing’ is to :

(A) Increase liquidity

(B) Reduce short-term rate of interest

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Which industry provides the highest direct employment in India ?
(A) Sugar (B) Cement

(C) Iron and steel (D) Cotton textiles

The annual population growth rate in India during 1981-2011 can be classified

as :

(A) Rapid High Growth
(B) Stagnant population
(C) Steady growth

(D) High growth rate with definite signs of slowing down
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74. Trafefeam 8 | s ww sfafes oo &1 sioaf s W & 2
(A) =fus sl (B) wvE =1 fesufrads
(C) Hya=3 (D) el = &9
75. ‘W HReS w1 OWHE 3R § o
(A) TEa AT
(B) et # wmw 27 § w5
(C) 374aa (A) =1 (B) ZHi
(D) A A (AT & (B
76. vrEAY ¥ w3 FEites TEE U9 W s 7
(A) = (B) ==
(C) =@ 3 =™ (D) HA a5

77. W 1981-2011 ® == wwA § AidEm IAEE g @ @ e ven oifea fEEm

W TEA ¥

(A) @ I=9 Hafg
(B) Trvssr s
(C) ward wafE

(D) 3= "afg = fomd =y &7 % fafvww d9da &
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78.

79.

80.

81.

82.

Which one of the following is the biggest component of India's long-term

external debt ?

(A) Commercial Borrowings (B) Bilateral debt

(C) Multilateral debt (D) NRI deposits

Euro came into circulation since :

(A) Jan. 1, 1996 (B) Jan. 1, 1998

(C) Jan. 1, 1999 (D) Jan. 1, 2000

India’s foreign exchange rate system is :

(A) Free float (B) Fixed

(C) Managed float (D) Fixed target of band

Who among the following showed that an import tariff can reduce domestic

price ?
(A) Metzler : (B) Krugman
(C) Machlup (D) Salvatore

Who gave the concept of opportunity cost in 1914 ?
(A) Haberler (B) Marshall

(C) Gossen (D) Wieser
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78. WId F wEEE @RI w1 wER wer amgs e 8} sEm o
(A) arfnfegs awm (B) fgmeftm =
(C) =gasita = (D) fFardt s
79. I W T TN T €
(A) 1 5=, 1996 ¥ - (B) 1 SMadt, 1998 #
(C) 1 =71, 1999 A (D) 1 sF=&d, 2000 B
80. wia i fadsh fafma 2z wweft & .
(A) =T WEREE (B) fer
(C) wafaa w=wsm™ D) wF dvz ¥ fep a3
8l T A A fema 2ffa o & amam Wy =g 19 &) %9 &7 9F@ & 2
(A)  BgeR (B) =
(C) WHeera (D) F=aEdR
82. =d 1914 ¥ zaw @ # fauw fewd fem @ 2
(A) TR (B) wmefea
(C) &7 (D) |
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B3. A specific factor of production can be used :
(A) In one work (B) In two works
(C) In many works (D) Cannot determine the number
84.  Which one of the following is not correct ?
(A) Second Five Year Plan (1956-61)
(B) Fourth Five Year Plan (1969-74)
(C) Sixth Five Year Plan (1980-85)
(D) Eighth Five Year Plan (1990-95)
85. Which one of the following is not a component of land reforms in India ?
(A) Ceiling on land holdings
(B) Abolition of intermediaries
(C) Improvement in the soil fertility
(D) Promoting cooperative farming
86. The Agricultural Prices Commission (APC, 1965) is now known as :
(A) The Department of Agriculture and Cooperation
(B) Competition Commission
(C) State Warehousing Corporation
(D) Commission for Agricultural Costs and Prices
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s & Feedl fafer wE @1 Sw@ fE o A ¥

(A) TH wE H (B) & =l A

(C) ¥w Fr H (D) e w1 fuitm T G oS T
fr # R} B T 96 W ¥ ?

(A) fadg dwEd FeE (1956-61)

(B) =Y dEEdty A9 (1969-74)

(C) B3 Weadta dEE (1980-85)

(D) MWM(IW-B&

ﬁaﬂa@aﬁ&mmqﬁaﬁtﬁmmmqﬂt?

C (A gfa S w1 F

(B) W] & 9EH

(C) W& 3T | R

(D) HewTl @dr A |
Ffg s smEm (L., 1965) ®1 3™ T TN ¥
(A) Fa au wEE@ v

(B) wfaeasi smEm

(C) g HE wvarm fre

(D) Ffu @@ UE g A
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87.

89.

The ‘small farmers’ in India are those farmers who have a farm size :
(A) Between 0 to 1 hectare (B) Between 0 to 2 hectare
(C) Between 1 to 2 hectare (D) Between 2 to 4 hectare

Who among the following economists has not given a model to explain pricing

in a duopoly market ?
(A) Bertrand (B) Chamberlin
(C) Cournot (D) Stackelberg

According to Stackelberg, where is the 'Cournot Point’ situated on the demand

line of a firm ?

(A) When elasticity is unity

(B) When elasticity is less than unity

(C) When elasticity is more than unity

(D) Anywhere on the demand line

When the economic growth in one region had adverse effect on the other
regions, it is called :

(A) Backwash effect -

(B) Brain drain effect

(C) Trickle down effect

(D) International demonstration effect
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87.

89.

g d ‘e FEE 4 Fus § e ad w1 oaew %o
(A) 031 ¥ T =5 O (B) 0 # 2w 5 u
(C) 182 W & 9 (D) 2 &4 2w & 0y

freafafas sidenfed 8§ 3 g gafusdt a9 8 wimg Fafoon 51 =2 3 3
fom wfea = e % 2

(A) w7 (B) =Erfe

(©) =7t (D) =feward

2fpeat F s9ER, ©F wH F 9 TE w ‘e fag' ww fom g E 2
(A) v& &9 =8 @

(B) 9@ &9 3%E ¥ 9 @

(C) = =g & | afuw @

(D) =M TEn 9 owE off

wE UF 49 H s dafeg = T 44 W faviw wvm w2, @ W@ e ¥
(A) wfeEmd v |

(B) fs #waw wvE

(C) frwe =z wvE

(D) A=Y WEYA W9E
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91.

92.

93.

94.

95.

According to Meadows, the “Limits to growth” should be :

(A) Zero percent (B) Between 5-10 percent
(9) Between 10-25 percent (D) Between 25-50 percent
The assumption of the Mundall-Fleming model is :

(A) Flexible exchange rate (B) Fixed exchange rate
(C) Semi-flexible exchange rate (D) Semi-fixed exchange rate
Where did Enke favour investment ?

(A) Traditional sector (B) Agriculture sector

(C) Birth control (D) All of these

Who has given the theory of ‘Big Push' ?

(A) Paul N. Rosentein-Rodan (B) Arthur Lewis

(C) Harvey Leibenstein (D) H. Stiglitz

If marginal propensity to consume is 0.75 and change in autonomous

investment is ¥ 600 crore, what shall be the change in income ?
(A) T 600 crore (B) ¥ 1200 crore

(C) T 1800 crore (D) T 2400 crore
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91.

92.

93.

drdr @ s, et ® e R =

(A) v wiaeE (B) 5-10 wiaem + 5%
(C) 10-25 wiawm & == (D) 25-50 wfovm & WA
qUES-wATET WEe #1 ArEa § o |

(A) wr=ien E@fme (B) o fafamaa =
(C) Hg-wraw Ay =7 (D) ¥@-fror fafg =2
= g i fafdm =1 9w & w0 2

(A) WEEDTd @R (B) %t &7

(C) = fFa=m (D) @ |4

vaa yam fagra w1 wfooes fmes e 2

(A) TH TH. THEE-TEH (B) =dt &fag

(C) »d wEaEE (D) wa. fenfazs

gfz apim 1 des wafa 0.76 @ 9 @=rae fafEm § sfeds 2 600 w08 =
8, @ 3mg # oftadw @m o

(A) T 600 %% (B) T 1200 =12

(C) 2T 1800 &0% (D) T 2400 Fig
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97.

98.

100.

Kuznets’ Environmental curve shows a relationship between :
(A) Environmental degradation and fertility rate

(B) Environmental degradation and income per capita

(C) Environmental degradation and educational level

(D) Environmental degradation ax{d life expectancy

The Worid Environment Day is observed on :

(A) 5th March (B) 5th June

(C) 5th September (D) 10th September
Tbe meaning of ‘core sector’ in Indian planning refers to :
(A) Défense industries (B) Agriculture

(C) Selected basic industries (D) Iron and Steel industry

The cost that a firm incurs on purchasing raw materials for producing a

commodity is known as :
(A) Total cost (B) Variable cost
(C) Fixed cost (D) Implicit cost

Which one of the following is a regulatory body for security market in
India ?

(A) SEBI (B) IRDA

(C) RBI (D) EXIM Bank
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96.

97.

98.

100.

Wmmaﬁm%mmaﬁzﬁiﬂﬁ%?
(A) TEEEE FH A4 weEa wT

(B) wufEwia g4 a9 wfy =afs s

(C) wHmETig B Agr foen &1 I

(D) TAEDNT gE a0 SEs- e

fava syl fesm mm s &

(A) 5 HHE (B) 593

(C) 5 fagmE M 10 Frar

yarE feE 7 s a4’ = ad ddfug # o

(A) &1 @M | : (B) %" &

(C) === genm = 2 (D) & aa = 3= |/

fodl = # sofen &0 & fou 26 w0 S o s e # @i § e
¥ 3w E .

(A) #a & (B) wiEd-g &rmE

(C) Teorw =wma (D) e @rE

g # wfevfa aem #1 fafm #05 awt e s 8§ 4 S8 ¢ 2
(A) et (B) ==

(C) smELam. (D) ufFm &=
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